Hindawi Publishing Corporation Abstract and Applied Analysis Volume 2010, Article ID 372176, 10 pages doi:10.1155/2010/372176

Research Article **Hyers-Ulam Stability of the Delay Equation** $y'(t) = \lambda y(t - \tau)$

Soon-Mo Jung¹ and Janusz Brzdęk²

¹ Mathematics Section, College of Science and Technology, Hongik University, Jochiwon 339-701, Republic of Korea

² Department of Mathematics, Pedagogical University of Cracow, Podchorążych 2, 30-084 Kraków, Poland

Correspondence should be addressed to Soon-Mo Jung, smjung@hongik.ac.kr

Received 11 September 2010; Accepted 25 November 2010

Academic Editor: Yong Zhou

Copyright © 2010 S.-M. Jung and J. Brzdęk. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

We investigate the approximate solutions $y : [-\tau, \infty) \to \mathbb{R}$ of the delay differential equation $y'(t) = \lambda y(t - \tau)(t \in [0, \infty))$ with an initial condition, where $\lambda > 0$ and $\tau > 0$ are real constants. We show that they can be "approximated" by solutions of the equation that are constant on the interval $[-\tau, 0]$ and, therefore, have quite simple forms. Our results correspond to the notion of stability introduced by Ulam and Hyers.

1. Introduction

While investigating real world phenomena we very often use equations. In general, it is well known that those equations are satisfied, however, with some error. Sometimes that error is neglected and it is believed that this will have only a minor influence on the final outcome. Since it is not always the case, it seems to be of interest to know when we can neglect the error, why, and to what extent.

One of the tools for systematic treatment of the problem described above seems to be the notion of Hyers-Ulam stability and some ideas inspired by it. That notion has not actually been made very precise so far, and we still seek a better understanding of it (see, e.g., [1, 2]). But, roughly speaking, we might say that it is connected with the investigation of the following question: *when is a function satisfying an equation with some "small" (in some sense) error "close" to a solution of that equation*?

The study of the stability problem for functional equations starts from the famous talk of Ulam and the partial solution of Hyers to Ulam's problem (see [3, 4]). Thereafter, Hyers and Ulam (see, e.g., [4–8]), but also several other authors (see, e.g., [9–12]), attempted to

study the stability problem for various functional equations. In particular, we should mention here the well-known paper [13] of Th.M. Rassias, in which he actually rediscovered the result of Aoki [9] (cf. [14]), and which has significantly influenced research of numerous mathematicians (see [15–21] and the references therein).

Assume that *X* and *Y* are normed spaces and that *I* is an open subset of *X*. Let \mathcal{F} be a class of differentiable functions mapping *I* into *Y*. If for any real $\varepsilon \ge 0$ and any function $y \in \mathcal{F}$ satisfying the differential inequality

$$\sup_{t\in I} \left\| \sum_{i=0}^{n} a_i(t) y^{(i)}(t) + h(t) \right\| \le \varepsilon, \tag{1.1}$$

there exists a solution $y_0 : I \to Y$ of the differential equation

$$\sum_{i=0}^{n} a_i(t) y^{(i)}(t) + h(t) = 0$$
(1.2)

such that

$$\sup_{t \in I} \left\| y(t) - y_0(t) \right\| \le K(\varepsilon), \tag{1.3}$$

(where $K(\varepsilon)$ depends on ε only), then we say that the above differential equation is Hyers-Ulam stable in the class of function \mathcal{F} . We may use this terminology for other differential equations. For more detailed definitions of the Hyers-Ulam stability and some discussions and critiques of that subject, refer to [1, 2, 4, 13, 15, 16, 18–21].

Obloza seems to be the first author who has investigated the Hyers-Ulam stability of linear differential equations (see [22, 23]) in the sense described above. Here, let us recall a result of Alsina and Ger (see [24]):

If a differentiable function $f : I \to \mathbb{R}$ is a solution of the differential inequality $|y'(t) - y(t)| \le \varepsilon$, where I is an open subinterval of \mathbb{R} , then there exists a solution $f_0 : I \to \mathbb{R}$ of the differential equation y'(t) = y(t) such that $|f(t) - f_0(t)| \le 3\varepsilon$ for any $t \in I$.

An analogous result for the Banach space valued functions has been proved by Takahasi et al. [25]. For some further examples of investigations of such kind of stability of differential equations see also [26–35].

In what follows, $\lambda > 0$ and $\tau > 0$ stand for fixed real constants, unless clearly stated otherwise. Moreover, \mathcal{F} denotes the family of all continuous functions mapping the real interval $[-\tau, \infty)$ into \mathbb{R} which are continuously differentiable in $[0, \infty)$.

In this paper, motivated by the above-mentioned outcomes on Hyers-Ulam stability, we prove that a somewhat similar type of stability is valid for the delay differential equation

$$y'(t) = \lambda y(t - \tau) \tag{1.4}$$

in the class of functions \mathcal{F} with an initial condition. More precisely, for given real numbers ε_1 , ε_2 and continuous functions ξ_1 , $\xi_2 : [-\tau, 0] \to \mathbb{R}$ with $\varepsilon_1 < \varepsilon_2$ and $\xi_1(t) < \xi_2(t)$ for $t \in [-\tau, 0]$,

we describe a behavior of solutions of the following problem (the delay differential inequality with an initial condition)

$$\varepsilon_1 \le y'(t) - \lambda y(t-\tau) \le \varepsilon_2, \quad t \ge 0,$$
 (1.5)

$$\xi_1(t) \le y(t) - y(0) \le \xi_2(t), \quad -\tau \le t \le 0, \tag{1.6}$$

and compare them with solutions of the delay equation (1.4) that are constant on the interval $[-\tau, 0]$ (and therefore have quite simple forms). Functions satisfying those two inequalities may be considered to be approximate solutions of (1.4).

2. An Auxiliary Theorem

Let us recall a description of a class of solutions of (1.4).

Remark 2.1. It is known that if $\lambda \neq 0$ and $\tau > 0$ are real constants, then the general solution $y : [-\tau, \infty) \rightarrow \mathbb{R}$ of the delay differential equation (1.4), which is constant on the interval $[-\tau, 0]$, is given by

$$y(t) = \alpha \sum_{n=-1}^{[t/\tau]} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}, \quad t \in [-\tau, \infty),$$
(2.1)

where α is an arbitrary real number and $[t/\tau]$ denotes the greatest integer that is less than or equal to t/τ .

The following theorem will be very useful in the sequel.

Theorem 2.2. Let $z, \phi \in \mathcal{F}$. Assume that

$$z'(t) - \lambda z(t-\tau) \le \phi'(t) - \lambda \phi(t-\tau), \quad t \ge 0,$$
(2.2)

$$z(t) - z(0) \le \phi(t) - \phi(0), \quad t \in [-\tau, 0].$$
(2.3)

There exist unique solutions $\hat{z}, \hat{\phi} \in \mathcal{F}$ of (1.4) satisfying the initial conditions

$$\hat{\phi}(t) = \phi(0), \quad t \in [-\tau, 0),$$
(2.4)

$$\hat{z}(t) = z(0), \quad t \in [-\tau, 0),$$
(2.5)

such that

$$z(t) - \hat{z}(t) \le \phi(t) - \hat{\phi}(t), \quad t \ge 0.$$
(2.6)

Proof. Write $y := z - \phi$, $y_0 := z(0) - \phi(0)$ and

$$\widehat{y}(t) = y_0 \sum_{n=-1}^{[t/\tau]} \frac{\lambda^{n+1} (t-n\tau)^{n+1}}{(n+1)!}, \quad t \in [-\tau, \infty).$$
(2.7)

Clearly,

$$\hat{y}(t) = y_0, \quad t \in [-\tau, 0),$$
(2.8)

and by (2.2),

$$y'(t) \le \lambda y(t-\tau), \quad t \ge 0. \tag{2.9}$$

By the induction on $[t/\tau]$ we prove that, for each $t \ge 0$,

$$y(t) \le \hat{y}(t). \tag{2.10}$$

Let $[t/\tau] = 0$ (i.e., $0 \le t < \tau$). It follows from (2.3) and (2.9) that $y'(t) \le \lambda y_0$. If we integrate each term from 0 to *t*, then we get

$$y(t) - y_0 \le \lambda y_0 t, \tag{2.11}$$

which together with the definition of \hat{y} gives (2.10) (for $t \in [0, \tau)$).

Now, take a nonnegative integer *m* and assume that inequality (2.10) is true for $[t/\tau] = m$, that is,

$$y(t) \le y_0 \sum_{n=-1}^{m} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}, \quad m\tau \le t < m\tau + \tau.$$
(2.12)

We are to show that this is also the case for $[t/\tau] = m + 1$ (i.e., for $m\tau + \tau \le t < m\tau + 2\tau$).

Due to (2.9), we have

$$\int_{m\tau+\tau}^{t} y'(u) du \le \lambda \int_{m\tau+\tau}^{t} y(u-\tau) du, \qquad (2.13)$$

and hence

$$y(t) \le \lambda \int_{m\tau}^{t-\tau} y(v) dv + y(m\tau + \tau)$$
(2.14)

for all $m\tau + \tau \leq t < m\tau + 2\tau$.

Substitute $t - \tau$ for t in (2.12) (with $m\tau + \tau \le t < m\tau + 2\tau$) and integrate each term of the resulting inequalities from $m\tau + \tau$ to *t*. Then, we have

$$\int_{m\tau}^{t-\tau} y(v) dv \le y_0 \sum_{n=0}^{m+1} \frac{\lambda^n (t-n\tau)^{n+1}}{(n+1)!} - y_0 \sum_{n=0}^{m+1} \frac{\lambda^n (m\tau - n\tau + \tau)^{n+1}}{(n+1)!}$$
(2.15)

for any $m\tau + \tau \le t < m\tau + 2\tau$. Moreover, since *y* is continuous in $[0, \infty)$,

$$\lim_{t \to m\tau + \tau} y(t) = y(m\tau + \tau)$$
(2.16)

and consequently (2.12) yields

$$y(m\tau + \tau) \le y_0 \sum_{n=-1}^m \frac{\lambda^{n+1} (m\tau - n\tau + \tau)^{n+1}}{(n+1)!}.$$
(2.17)

Thus, from (2.15) and (2.17), we obtain

$$\lambda \int_{m\tau}^{t-\tau} y(v) dv + y(m\tau + \tau) \le y_0 \sum_{n=-1}^{m+1} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}$$
(2.18)

for any $m\tau + \tau \le t < m\tau + 2\tau$. Hence, by (2.14) and the definition of \hat{y} , (2.10) holds true for $[t/\tau] = m + 1$ (i.e., $m\tau + \tau \le t < m\tau + 2\tau$), as well.

Thus we have proved that (2.10) is valid for all $t \ge 0$. Define

$$\widehat{\phi}(t) = \phi(0) \sum_{n=-1}^{[t/\tau]} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}, \quad t \ge -\tau,$$

$$\widehat{z}(t) = z(0) \sum_{n=-1}^{[t/\tau]} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}, \quad t \ge -\tau.$$
(2.19)

Clearly, (2.4) and (2.5) are valid. Moreover, $\hat{y} = \hat{z} - \hat{\phi}$ and hence, (2.6) follows from (2.10).

The uniqueness of $\hat{\phi}$ and \hat{z} follows from Remark 2.1.

3. The Main Stability Results

Now, we present some corollaries that are immediate consequences of Theorem 2.2. They contain stability results for (1.4).

Corollary 3.1. Let y, ψ_1 , $\psi_2 \in \mathcal{F}$. Assume that $\psi_1(0) = \psi_2(0) = 0$,

$$\psi_1'(t) - \lambda \psi_1(t-\tau) \le y'(t) - \lambda y(t-\tau) \le \psi_2'(t) - \lambda \psi_2(t-\tau), \quad t \ge 0,$$
(3.1)

$$\psi_1(t) \le y(t) - y(0) \le \psi_2(t), \quad t \in [-\tau, 0].$$
(3.2)

Then there is a unique solution $\hat{y} \in \mathcal{F}$ of (1.4) such that $\hat{y}(t) = y(0)$ for $t \in [-\tau, 0)$ and

$$\psi_1(t) \le y(t) - \hat{y}(t) \le \psi_2(t), \quad t \ge 0.$$
(3.3)

Proof. Observe that (3.2) implies

$$\psi_1(t) - \psi_1(0) \le y(t) - y(0) \le \psi_2(t) - \psi_2(0), \quad t \in [-\tau, 0].$$
(3.4)

Hence, it is enough to use Theorem 2.2, first with $z = \psi_1$, $\phi = y$, and next with z = y, $\phi = \psi_2$, where

$$\widehat{\psi}_i(t) = \psi_i(0) \sum_{n=-1}^{[t/\tau]} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!} = 0, \quad t \in [-\tau, \infty),$$
(3.5)

for *i* = 1, 2.

Remark 3.2. Observe that, for $\lambda > 0$, the inequality in the proof of Corollary 3.1 implies that the estimation (3.3) is actually valid for all $t \ge -\tau$.

It is interesting whether analogues of Corollary 3.1 and our further results can be obtained also for $\lambda < 0$.

The next corollary is a particular case of Corollary 3.1 and corresponds to the classical Hyers-Ulam stability results.

Corollary 3.3. Let $y, \psi_2 \in \mathcal{F}$. Suppose that $\psi_2(0) = 0$,

$$\begin{aligned} |y'(t) - \lambda y(t - \tau)| &\leq \psi_2'(t) - \lambda \psi_2(t - \tau), \quad t \geq 0, \\ |y(t) - y(0)| &\leq \psi_2(t), \quad t \in [-\tau, 0]. \end{aligned}$$
(3.6)

Then there exists a unique solution $\hat{y} \in \mathcal{F}$ of (1.4) satisfying the initial condition:

$$\hat{y}(t) = y(0), \quad t \in [-\tau, 0),$$
(3.7)

and such that

$$|y(t) - \hat{y}(t)| \le \psi_2(t), \quad t \ge 0.$$
 (3.8)

Proof. Clearly we have

$$-\psi_2(t) + \psi_2(0) \le y(t) - y(0) \le \psi_2(t) - \psi_2(0), \quad t \in [-\tau, 0].$$
(3.9)

Hence from Theorem 2.2 with $\psi_1 := -\psi_2$, analogously as in the proof of Corollary 3.1, we get the statement.

Note that the functions ψ_1, ψ_2 in Theorem 2.2 and Corollary 3.1 can be constant only if $\psi_i(t) \equiv 0$, i = 1, 2. Therefore the case of problem (1.5), (1.6) is a bit more complicated. It is described by the following theorem (in particular, note that (1.6) implies (3.10)).

Theorem 3.4. Let $\varepsilon_1, \varepsilon_2$ be real numbers with $\varepsilon_1 \leq \varepsilon_2$ and $\xi_1, \xi_2 \in \mathcal{F}$ be solutions of (1.4). Suppose that $y \in \mathcal{F}$ satisfy inequality (1.5) and

$$\xi_1(t) - \xi_1(0) \le y(t) - y(0) \le \xi_2(t) - \xi_2(0), \quad t \in [-\tau, 0].$$
(3.10)

Then there exists unique solutions \hat{y} , $\hat{\xi}_1$, $\hat{\xi}_2 \in \mathcal{F}$ of (1.4) such that

$$\widehat{y}(t) = y(0), \qquad \widehat{\xi}_{i}(t) = \xi_{i}(0) - \frac{\varepsilon_{i}}{\lambda}, \quad t \in [-\tau, 0), \ i = 1, 2,$$

$$\xi_{1}(t) - \widehat{\xi}_{1}(t) - \frac{\varepsilon_{1}}{\lambda} \le y(t) - \widehat{y}(t) \le \xi_{2}(t) - \widehat{\xi}_{2}(t) - \frac{\varepsilon_{2}}{\lambda}, \quad t \ge 0.$$
(3.11)

Proof. Let

$$\varphi_i := \xi_i - \frac{\varepsilon_i}{\lambda}, \quad i = 1, 2.$$
(3.12)

Then

$$\psi'_i(t) - \lambda \psi_i(t-\tau) = \varepsilon_i, \quad i = 1, 2.$$
(3.13)

Moreover (3.10) yields

$$\psi_1(t) - \psi_1(0) \le y(t) - y(0) \le \psi_2(t) - \psi_2(0), \quad t \in [-\tau, 0].$$
(3.14)

Consequently, by Theorem 2.2, there exists unique solutions $\hat{\psi}_1$, $\hat{\psi}_2$, $\hat{y} \in \mathcal{F}$ of (1.4) such that $\hat{\psi}_i(t) = \psi_i(0)$ and $\hat{y}(t) = y(0)$ for $t \in [-\tau, 0)$, i = 1, 2, and

$$\psi_1(t) - \widehat{\psi}_1(t) \le y(t) - \widehat{y}(t) \le \psi_2(t) - \widehat{\psi}_2(t), \quad t \ge 0.$$
(3.15)

This and Remark 2.1 yield the statement.

A particular case of Theorem 3.4 is the subsequent corollary.

Corollary 3.5. Let $\varepsilon \ge 0$ be a real constant, $y, \xi \in \mathcal{F}$, and ξ be a solution of (1.4). Suppose that $|y'(t) - \lambda y(t - \tau)| \le \varepsilon$ for $t \ge 0$ and there is a real number u_0 with $|y(t) - u_0| \le \xi(t)$ for $t \in [-\tau, 0]$. Then there are unique solutions $\hat{\xi}_0, \hat{y} \in \mathcal{F}$ of (1.4) such that (3.7) holds,

$$\widehat{\xi}_0(t) = \xi(0) - \frac{\varepsilon}{\lambda}, \quad t \in [-\tau, 0), \tag{3.16}$$

and, for each $t \ge 0$,

$$|y(t) - \hat{y}(t)| \le \xi(t) - \hat{\xi}_0(t) - \frac{\varepsilon}{\lambda} = \xi(t) - \xi(0) - \left(\xi(0) - \frac{\varepsilon}{\lambda}\right) \sum_{n=0}^{[t/\tau]} \frac{\lambda^{n+1}(t - n\tau)^{n+1}}{(n+1)!}.$$
 (3.17)

Proof. It is enough to use Theorem 3.4, with $\varepsilon_1 := -\varepsilon$ and $\varepsilon_2 := \varepsilon$, and Remark 2.1.

4. Some Immediate Consequences

Clearly, if $\xi(0) = 0$, then (3.17) has the following simpler form:

$$|y(t) - \hat{y}(t)| \le \xi(t) + \frac{\varepsilon}{\lambda} \sum_{n=0}^{\lfloor t/\tau \rfloor} \frac{\lambda^{n+1} (t - n\tau)^{n+1}}{(n+1)!}.$$
(4.1)

If $\xi(t) \equiv 0$ (i.e., $y(t) = u_0$ for $t \in [-\tau, 0]$) and $\lambda = \tau = 1$, then the inequality (3.17) takes the following form:

$$\left| y(t) - y_0 \sum_{n=-1}^{[t]} \frac{(t-n)^{n+1}}{(n+1)!} \right| \le \varepsilon \sum_{n=0}^{[t]} \frac{(t-n)^{n+1}}{(n+1)!}, \quad t \ge 0.$$
(4.2)

From Theorem 3.4 we can derive an estimation of solutions of the equation

$$y'(t) = \lambda \big(y(t-\tau) + d(t-\tau) \big), \quad t \in [0,\infty), \tag{4.3}$$

where $d \in \mathcal{F}$ is fixed. Namely we have the following result.

Corollary 4.1. Let $\xi_1, \xi_2 \in \mathcal{F}$ be solutions of (1.4) and $y \in \mathcal{F}$ be a solution of (4.3) satisfying condition (3.10). Let $\varepsilon_1 := \inf_{t \in [0,\infty)} d'(t)$ and $\varepsilon_2 := \sup_{t \in [0,\infty)} d'(t)$. Then, for each $t \ge 0$,

$$\begin{aligned} \xi_{1}(t) - \xi_{1}(0) + \left(y(0) + d(0) + \frac{\varepsilon_{1}}{\lambda} - \xi_{1}(0)\right) \sum_{n=0}^{[t/\tau]} \frac{\lambda^{n+1}(t - n\tau)^{n+1}}{(n+1)!} \\ &\leq y(t) + d(t) \leq \xi_{2}(t) - \xi_{2}(0) + \left(y(0) + d(0) + \frac{\varepsilon_{2}}{\lambda} - \xi_{2}(0)\right) \sum_{n=0}^{[t/\tau]} \frac{\lambda^{n+1}(t - n\tau)^{n+1}}{(n+1)!}. \end{aligned}$$

$$(4.4)$$

Proof. Assume that $\varepsilon_1 > -\infty$. Write $\phi := y + d$ and $z := \xi_1 - (\varepsilon_1/\lambda)$. Then $\phi'(t) - \lambda \phi(t - \tau) = \phi'(t)$ for $t \ge 0$. Consequently (2.2) holds true. Further, (3.10) implies (2.3). Now, it is enough to use Theorem 2.2.

If $\varepsilon_2 < \infty$, we use Theorem 2.2 with z := y + d and $\phi := \xi_2 - (\varepsilon_2/\lambda)$.

We end the paper with some estimation of solutions of a more general equation

$$y'(t) = \lambda y(t-\tau) + b(\mathcal{T}y(t)), \quad t \in [-\tau, \infty), \tag{4.5}$$

where *Z* is a nonempty set, $I = [-\tau, \infty)$, and \mathcal{T} is an operator that maps the family of function \mathbb{R}^{I} into the family of function Z^{I} , and $b : Z \to \mathbb{R}$.

Corollary 4.2. Let ξ_1 , $\xi_2 \in \mathcal{F}$ be solutions of (1.4) and $y \in \mathcal{F}$ be a solution of (4.5) satisfying condition (3.10). Let $\varepsilon_1 = \inf_{t \in \mathbb{R}} b(t)$ and $\varepsilon_2 = \sup_{t \in \mathbb{R}} b(t)$. Then, for each $t \ge 0$,

$$\xi_{1}(t) - \xi_{1}(0) + \left(y(0) + \frac{\varepsilon_{1}}{\lambda} - \xi_{1}(0)\right) \sum_{n=0}^{\left[t/\tau\right]} \frac{\lambda^{n+1}(t - n\tau)^{n+1}}{(n+1)!}$$

$$\leq y(t) \leq \xi_{2}(t) - \xi_{2}(0) + \left(y(0) + \frac{\varepsilon_{2}}{\lambda} - \xi_{2}(0)\right) \sum_{n=0}^{\left[t/\tau\right]} \frac{\lambda^{n+1}(t - n\tau)^{n+1}}{(n+1)!}.$$
(4.6)

Proof. Note that $\varepsilon_1 \leq y'(t) - \lambda y(t - \tau) = b(\tau y(t)) \leq \varepsilon_2$ for $t \geq 0$. So it is enough to use Theorem 2.2 analogously as in the proof of Corollary 4.1, first with $\phi = y$ and $z := \xi_1 - (\varepsilon_1/\lambda)$, and next with z := y and $\phi := \xi_2 - (\varepsilon_2/\lambda)$.

Acknowledgments

This research was supported by Basic Science Research Program through the National Research Foundation of Korea (NRF) funded by the Ministry of Education, Science, and Technology (no. 2010-0007143) and by 2010 Hongik University Research Fund.

References

- Z. Moszner, "On the stability of functional equations," *Aequationes Mathematicae*, vol. 77, no. 1-2, pp. 33–88, 2009.
- [2] B. Paneah, "A new approach to the stability of linear functional operators," Aequationes Mathematicae, vol. 78, no. 1-2, pp. 45–61, 2009.
- [3] S. M. Ulam, A Collection of Mathematical Problems, Interscience Tracts in Pure and Applied Mathematics, no. 8, Interscience Publishers, New York, NY, USA, 1960.
- [4] D. H. Hyers, "On the stability of the linear functional equation," Proceedings of the National Academy of Sciences of the United States of America, vol. 27, pp. 222–224, 1941.
- [5] D. H. Hyers, "Transformations with bounded *m*th differences," *Pacific Journal of Mathematics*, vol. 11, pp. 591–602, 1961.
- [6] D. H. Hyers and S. M. Ulam, "On approximate isometries," Bulletin of the American Mathematical Society, vol. 51, pp. 288–292, 1945.
- [7] D. H. Hyers and S. M. Ulam, "Approximately convex functions," Proceedings of the American Mathematical Society, vol. 3, pp. 821–828, 1952.
- [8] D. H. Hyers and S. M. Ulam, "Approximate isometries of the space of continuous functions," Annals of Mathematics, vol. 48, pp. 285–289, 1947.
- [9] T. Aoki, "On the stability of the linear transformation in Banach spaces," *Journal of the Mathematical Society of Japan*, vol. 2, pp. 64–66, 1950.
- [10] D. G. Bourgin, "Approximately isometric and multiplicative transformations on continuous function rings," *Duke Mathematical Journal*, vol. 16, pp. 385–397, 1949.
- [11] D. G. Bourgin, "Classes of transformations and bordering transformations," Bulletin of the American Mathematical Society, vol. 57, pp. 223–237, 1951.

- [12] P. M. Gruber, "Stability of isometries," Transactions of the American Mathematical Society, vol. 245, pp. 263–277, 1978.
- [13] Th. M. Rassias, "On the stability of the linear mapping in Banach spaces," Proceedings of the American Mathematical Society, vol. 72, no. 2, pp. 297–300, 1978.
- [14] L. Maligranda, "A result of Tosio Aoki about a generalization of Hyers-Ulam stability of additive functions—a question of priority," *Aequationes Mathematicae*, vol. 75, no. 3, pp. 289–296, 2008.
- [15] S. Czerwik, Functional Equations and Inequalities in Several Variables, World Scientific, River Edge, NJ, USA, 2002.
- [16] G. L. Forti, "Hyers-Ulam stability of functional equations in several variables," Aequationes Mathematicae, vol. 50, no. 1-2, pp. 143–190, 1995.
- [17] P. Găvruţa, "A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings," *Journal of Mathematical Analysis and Applications*, vol. 184, no. 3, pp. 431–436, 1994.
- [18] D. H. Hyers, G. Isac, and Th. M. Rassias, Stability of Functional Equations in Several Variables, vol. 34 of Progress in Nonlinear Differential Equations and Their Applications, Birkhäuser, Boston, Mass, USA, 1998.
- [19] D. H. Hyers and Th. M. Rassias, "Approximate homomorphisms," Aequationes Mathematicae, vol. 44, no. 2-3, pp. 125–153, 1992.
- [20] S.-M. Jung, Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis, Hadronic Press, Palm Harbor, Fla, USA, 2001.
- [21] Th. M. Rassias, "On the stability of functional equations and a problem of Ulam," Acta Applicandae Mathematicae, vol. 62, no. 1, pp. 23–130, 2000.
- [22] M. Obłoza, "Hyers stability of the linear differential equation," Rocznik Naukowo-Dydaktyczny. Prace Matematyczne, no. 13, pp. 259–270, 1993.
- [23] M. Obłoza, "Connections between Hyers and Lyapunov stability of the ordinary differential equations," *Rocznik Naukowo-Dydaktyczny. Prace Matematyczne*, no. 14, pp. 141–146, 1997.
- [24] C. Alsina and R. Ger, "On some inequalities and stability results related to the exponential function," *Journal of Inequalities and Applications*, vol. 2, no. 4, pp. 373–380, 1998.
- [25] S.-E. Takahasi, T. Miura, and S. Miyajima, "On the Hyers-Ulam stability of the Banach space-valued differential equation $y' = \lambda y$," Bulletin of the Korean Mathematical Society, vol. 39, no. 2, pp. 309–315, 2002.
- [26] S.-M. Jung, "Hyers-Ulam stability of linear differential equations of first order," Applied Mathematics Letters, vol. 17, no. 10, pp. 1135–1140, 2004.
- [27] S.-M. Jung, "Hyers-Ulam stability of linear differential equations of first order. III," Journal of Mathematical Analysis and Applications, vol. 311, no. 1, pp. 139–146, 2005.
- [28] S.-M. Jung, "Hyers-Ulam stability of linear differential equations of first order. II," Applied Mathematics Letters, vol. 19, no. 9, pp. 854–858, 2006.
- [29] S.-M. Jung and Th. M. Rassias, "Ulam's problem for approximate homomorphisms in connection with Bernoulli's differential equation," *Applied Mathematics and Computation*, vol. 187, no. 1, pp. 223–227, 2007.
- [30] S.-M. Jung and Th. M. Rassias, "Generalized Hyers-Ulam stability of Riccati differential equation," Mathematical Inequalities & Applications, vol. 11, no. 4, pp. 777–782, 2008.
- [31] Y. Li and Y. Shen, "Hyers-Ulam stability of nonhomogeneous linear differential equations of second order," *International Journal of Mathematics and Mathematical Sciences*, vol. 2009, Article ID 576852, 7 pages, 2009.
- [32] T. Miura, S.-M. Jung, and S.-E. Takahasi, "Hyers-Ulam-Rassias stability of the Banach space valued linear differential equations $y' = \lambda y$," *Journal of the Korean Mathematical Society*, vol. 41, no. 6, pp. 995–1005, 2004.
- [33] T. Miura, S. Miyajima, and S.-E. Takahasi, "A characterization of Hyers-Ulam stability of first order linear differential operators," *Journal of Mathematical Analysis and Applications*, vol. 286, no. 1, pp. 136– 146, 2003.
- [34] T. Miura, S. Miyajima, and S.-E. Takahasi, "Hyers-Ulam stability of linear differential operator with constant coefficients," *Mathematische Nachrichten*, vol. 258, pp. 90–96, 2003.
- [35] G. Wang, M. Zhou, and L. Sun, "Hyers-Ulam stability of linear differential equations of first order," *Applied Mathematics Letters*, vol. 21, no. 10, pp. 1024–1028, 2008.



Advances in **Operations Research**



The Scientific World Journal







Hindawi

Submit your manuscripts at http://www.hindawi.com



Algebra



Journal of Probability and Statistics



International Journal of Differential Equations





Complex Analysis





Mathematical Problems in Engineering



Abstract and Applied Analysis



Discrete Dynamics in Nature and Society



International Journal of Mathematics and Mathematical Sciences





Journal of **Function Spaces**



International Journal of Stochastic Analysis

